

DMC No. 000001
 Roll No. 255125637
 Regn. No. 25-DEO-637

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : YUVRAJ SINGH
 Father's Name : PARDEEP
 Mother's Name : BHARTI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	52 26	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	39 27	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 26	40AG	100	A+	9	04.0	36.0
TOTAL		0379		0500			20.0	176.0
GRAND TOTAL		0379		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000002
 Roll No. 255125638
 Regn. No. 25-DEO-638

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : HARLEEN KAUR
 Father's Name : GURVINDER SINGH
 Mother's Name : KAWALJIT KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 27	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 29	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	46 27	40AG	100	A	8	04.0	32.0
TOTAL		0378		0500			20.0	172.0
GRAND TOTAL		0378		0500			20.0	172.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000003
 Roll No. 255125639
 Regn. No. 25-DEO-639

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : TANVI YADAV
 Father's Name : SANJEEV YADAV
 Mother's Name : REETA YADAV
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 20	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	44 23	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	41 22	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	40 19	40AG	100	B+	7	04.0	28.0
TOTAL		0335		0500			20.0	156.0
GRAND TOTAL		0335		0500			20.0	156.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : JITENDER KUMAR
 Father's Name : HANUMAN PRASAD
 Mother's Name : KAMLA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	40 23	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	26 16	40AG	100	C	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	28 19	40AG	100	C	5	04.0	20.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	32 18	40AG	100	B	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	25 23	40AG	100	C	5	04.0	20.0
TOTAL		0250		0500			20.0	112.0
GRAND TOTAL		0250		0500			20.0	112.0

RESULT : PASSED AND HAS OBTAINED : SGPA 5.60

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000005
 Roll No. 255125641
 Regn. No. 25-DEO-641

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : PRIYANKA
 Father's Name : RAJ KUMAR
 Mother's Name : SHEELA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 25	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	51 27	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	50 28	40AG	100	A+	9	04.0	36.0
TOTAL		0388		0500			20.0	176.0
GRAND TOTAL		0388		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000006
 Roll No. 255125643
 Regn. No. 25-DEO-643

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : SHILPA VASUDEVA
 Father's Name : JOGINDER PAL
 Mother's Name : ASHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	45 23	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	40 24	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	45 27	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	36 28	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	34 26	40AG	100	B+	7	04.0	28.0
	TOTAL	0328		0500			20.0	148.0
	GRAND TOTAL	0328		0500			20.0	148.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000007
 Roll No. 255125644
 Regn. No. 25-DEO-644

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : PRAMOD
 Father's Name : SUKHVIR SINGH
 Mother's Name : SAROJ
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	47 20	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	60 25	40AG	100	O	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	57 20	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	55 29	40AG	100	A+	9	04.0	36.0
TOTAL		0395		0500			20.0	180.0
GRAND TOTAL		0395		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000008
 Roll No. 255125645
 Regn. No. 25-DEO-645

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : SUMAN
 Father's Name : OM PARKASH
 Mother's Name : BHAGWATI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	53 29	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	57 30	40AG	100	O	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	54 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	55 29	40AG	100	A+	9	04.0	36.0
TOTAL		0419		0500			20.0	184.0
GRAND TOTAL		0419		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

DMC No. 000009
 Roll No. 255125646
 Regn. No. 25-DEO-646

Name : NISHA
 Father's Name : KRIPTAL SINGH
 Mother's Name : GURDEEP
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	56 27	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 29	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0392		0500			20.0	176.0
	GRAND TOTAL	0392		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000010
 Roll No. 255125647
 Regn. No. 25-DEO-647

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : KHUSHBU KEJRIWAL
 Father's Name : KAILASH PRASAD KEJRIWAL
 Mother's Name : NEELAM DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	30 23	40AG	100	B	6	04.0	24.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	38 29	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	46 26	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	40 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	45 16	40AG	100	B+	7	04.0	28.0
TOTAL		0321		0500			20.0	148.0
GRAND TOTAL		0321		0500			20.0	148.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000011
 Roll No. 255125649
 Regn. No. 25-DEO-649

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : GAURAV YADAV
 Father's Name : SITARAM YADAV
 Mother's Name : NISHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	55 29	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	55 30	40AG	100	O	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	52 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	55 29	40AG	100	A+	9	04.0	36.0
TOTAL		0417		0500			20.0	184.0
GRAND TOTAL		0417		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000012
 Roll No. 255125650
 Regn. No. 25-DEO-650

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : AJAY KUMAR
 Father's Name : KRISHAN LAL
 Mother's Name : SARLA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	48 26	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	35 28	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	38 29	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	34 29	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	35 28	40AG	100	B+	7	04.0	28.0
TOTAL		0330		0500			20.0	148.0
GRAND TOTAL		0330		0500			20.0	148.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000013
 Roll No. 255125651
 Regn. No. 25-DEO-651

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : VANSHIKA
 Father's Name : SANJEEV KUMAR
 Mother's Name : BABLI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	36 27	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	47 14	40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	40 14	40AG	100	B	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	50 27	40AG	100	A+	9	04.0	36.0
TOTAL		0337		0500			20.0	152.0
GRAND TOTAL		0337		0500			20.0	152.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000014
 Roll No. 255125652
 Regn. No. 25-DEO-652

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : MONINDER SACHDEVA
 Father's Name : H S SACHDEVA
 Mother's Name : SURJEET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	60 28	40AG	100	O	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	57 28	40AG	100	O	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	48 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	53 29	40AG	100	A+	9	04.0	36.0
TOTAL		0415		0500			20.0	188.0
GRAND TOTAL		0415		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000015
 Roll No. 255125653
 Regn. No. 25-DEO-653

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : AYESHA SIDDIKA
 Father's Name : MD JAKIR HOSSAIN
 Mother's Name : MONIRA KHATUN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	49 20	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	42 22	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 21	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	41 16	40AG	100	B+	7	04.0	28.0
TOTAL		0330		0500			20.0	152.0
GRAND TOTAL		0330		0500			20.0	152.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000016
 Roll No. 255125654
 Regn. No. 25-DEO-654

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : VIVEKANANDAN K
 Father's Name : KRISHNAMURTHY G
 Mother's Name : UMA G
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	58 28	40AG	100	O	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	52 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	62 28	40AG	100	O	10	04.0	40.0
TOTAL		0417		0500			20.0	188.0
GRAND TOTAL		0417		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000017
 Roll No. 255125655
 Regn. No. 25-DEO-655

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : SARITA KUMARI
 Father's Name : PAPPU SINGH
 Mother's Name : SUNIL DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	54 29	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	53 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	51 29	40AG	100	A+	9	04.0	36.0
TOTAL		0402		0500			20.0	180.0
GRAND TOTAL		0402		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000018
 Roll No. 255125656
 Regn. No. 25-DEO-656

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : TANIYA NIMBRIA
 Father's Name : PREM SINGH
 Mother's Name : SHEELA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	36 27	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	44 30	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 27	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 28	40AG	100	A+	9	04.0	36.0
TOTAL		0364		0500			20.0	164.0
GRAND TOTAL		0364		0500			20.0	164.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000019
 Roll No. 255125657
 Regn. No. 25-DEO-657

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : MANISHA
 Father's Name : PREM NATH
 Mother's Name : SHEELA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	36 26	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	38 26	40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	41 25	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53 27	40AG	100	A+	9	04.0	36.0
TOTAL		0348		0500			20.0	160.0
GRAND TOTAL		0348		0500			20.0	160.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000020
 Roll No. 255125658
 Regn. No. 25-DEO-658

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : KAMALDEEP
 Father's Name : SHISHPAL
 Mother's Name : ROSHANI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	48 22	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	35 20	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	47 21	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 22	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	37 23	40AG	100	B+	7	04.0	28.0
TOTAL		0317		0500			20.0	148.0
GRAND TOTAL		0317		0500			20.0	148.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000021
 Roll No. 255125659
 Regn. No. 25-DEO-659

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : BEENA DENSON
 Father's Name : LATE MR JOHN THOMAS
 Mother's Name : ALEYAMMA JOHN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 23	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51 26	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	AB AB F	40AG	100	F	0	04.0	0
5	MENL-515 STUDY OF GENRE: FICTION	AB AB F	40AG	100	F	0	04.0	0
	TOTAL	***		0500			20.0	108.0
							12.0	108.0

RESULT : RE - TILL JUN- 2027 IN : MENL-514 MENL-515

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000022
 Roll No. 255125660
 Regn. No. 25-DEO-660

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : VIPUL YADAV
 Father's Name : OMPRAKASH YADAV
 Mother's Name : MUKESH DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	13 6 F	40AG	100	F	0	04.0	0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	05 2 F	40AG	100	F	0	04.0	0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	AB AB F	40AG	100	F	0	04.0	0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	AB AB F	40AG	100	F	0	04.0	0
5	MENL-515 STUDY OF GENRE: FICTION	AB AB F	40AG	100	F	0	04.0	0
	TOTAL	****		0500			20.0	000.0
							8.0	0.0

RESULT : RE - TILL JUN- 2027 IN : FAIL

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000023
 Roll No. 255125661
 Regn. No. 25-DEO-661

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : KAMILALUBABA S
 Father's Name : SIRAJUDEEN
 Mother's Name : SABIRA BANU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 27	40AG	100	O	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	53 26	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	53 27	40AG	100	A+	9	04.0	36.0
TOTAL		0402		0500			20.0	184.0
GRAND TOTAL		0402		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000024
 Roll No. 255125664
 Regn. No. 25-DEO-664

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : SHIBU DEVASIA OLICKAL
 Father's Name : DEVASIA O M
 Mother's Name : MARIAM O
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	49 23	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	45 24	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	44 29	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	37 26	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	48 21	40AG	100	A	8	04.0	32.0
TOTAL		0346		0500			20.0	156.0
GRAND TOTAL		0346		0500			20.0	156.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000025
 Roll No. 255125665
 Regn. No. 25-DEO-665

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : SONALI RAWAT
 Father's Name : VIJAY RAWAT
 Mother's Name : PUSHPA RAWAT
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51 29	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 29	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	60 29	40AG	100	O	10	04.0	40.0
TOTAL		0404		0500			20.0	180.0
GRAND TOTAL		0404		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000026
 Roll No. 255125667
 Regn. No. 25-DEO-667

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : RITU
 Father's Name : PAWAN RANA
 Mother's Name : MUKESH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	46 27	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	47 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	32 28	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	35 28	40AG	100	B+	7	04.0	28.0
TOTAL		0348		0500			20.0	160.0
GRAND TOTAL		0348		0500			20.0	160.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

DMC No. 000027
 Roll No. 255125668
 Regn. No. 25-DEO-668

Name : SIMRAN S
 Father's Name : BHUSHAN SARDANA
 Mother's Name : BINDU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	52 27	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	54 28	40AG	100	A+	9	04.0	36.0
TOTAL		0393		0500			20.0	176.0
GRAND TOTAL		0393		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000028
 Roll No. 255125669
 Regn. No. 25-DEO-669

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : DEVANSHI MANGAT
 Father's Name : JASKARAN SINGH MANGAT
 Mother's Name : SUPRIYA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	41 25	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51 27	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	46 27	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	29 29	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	49 28	40AG	100	A+	9	04.0	36.0
TOTAL		0352		0500			20.0	164.0
GRAND TOTAL		0352		0500			20.0	164.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000029
 Roll No. 255125670
 Regn. No. 25-DEO-670

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : KHIRSAREWALA MARYAM MOHAMED S
 Father's Name : MOHAMMED SALIM
 Mother's Name : FATIMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	38 14	40AG	100	B	6	04.0	24.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	42 28	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	46 13	40AG	100	B+	7	04.0	28.0
TOTAL		0329		0500			20.0	152.0
GRAND TOTAL		0329		0500			20.0	152.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

DMC No. 000030
 Roll No. 255125671
 Regn. No. 25-DEO-671

Name : SWETA SINGH
 Father's Name : RAJ BAHADUR SINGH
 Mother's Name : RAM SHRINGARI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	56 26	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	44 27	40AG	100	A	8	04.0	32.0
	TOTAL	0389		0500			20.0	176.0
	GRAND TOTAL	0389		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000031
 Roll No. 255125672
 Regn. No. 25-DEO-672

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : ADITI KALRA
 Father's Name : NARESH KUMAR KALRA
 Mother's Name : GEETA KALRA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	58 28	40AG	100	O	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 29	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	59 29	40AG	100	O	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	36 29	40AG	100	A	8	04.0	32.0
TOTAL		0392		0500			20.0	184.0
GRAND TOTAL		0392		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000032
 Roll No. 255125673
 Regn. No. 25-DEO-673

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : ANNADATHA LAXMI RAMANA KUMAR
 Father's Name : ANNADATHA CHANDRA SEKHARAR
 Mother's Name : SUBBURATHANAMMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	43 26	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	30 19	40AG	100	C	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	17 23 *	40AG	100	P	4	04.0	16.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	21 29	40AG	100	B	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	19 26	40AG	100	C	5	04.0	20.0
TOTAL		0253		0500			20.0	112.0
GRAND TOTAL		0253		0500			20.0	112.0

RESULT : PASSED AND HAS OBTAINED : SGPA 5.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

DMC No. 000033
 Roll No. 255125674
 Regn. No. 25-DEO-674

Name : PARMAR JIGAR JAYSUKHBHAI
 Father's Name : JAYSUKHBHAI
 Mother's Name : MANISHABEN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	47 29	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	45 28	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	45 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	50 28	40AG	100	A+	9	04.0	36.0
TOTAL		0376		0500			20.0	172.0
GRAND TOTAL		0376		0500			20.0	172.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000034
 Roll No. 255125675
 Regn. No. 25-DEO-675

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : GUILHUANPHUNGBOU PAMEI
 Father's Name : THIULENANG PAMEI
 Mother's Name : LIUCHUBUILIU PAMEI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	51 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	36 26	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	31 29	40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	37 27	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	53 25	40AG	100	A+	9	04.0	36.0
TOTAL		0343		0500			20.0	156.0
GRAND TOTAL		0343		0500			20.0	156.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000035
 Roll No. 255125676
 Regn. No. 25-DEO-676

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : YUKTA RATHI
 Father's Name : ATUL RATHI
 Mother's Name : GEETA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 21	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51 25	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	40 25	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	46 24	40AG	100	A	8	04.0	32.0
TOTAL		0367		0500			20.0	172.0
GRAND TOTAL		0367		0500			20.0	172.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000036
 Roll No. 255125677
 Regn. No. 25-DEO-677

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : VARNIKA
 Father's Name : SURESH
 Mother's Name : SEEMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	46 26	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	38 29	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	21 26	40AG	100	C	5	04.0	20.0
5	MENL-515 STUDY OF GENRE: FICTION	21 26	40AG	100	C	5	04.0	20.0
TOTAL		0316		0500			20.0	140.0
GRAND TOTAL		0316		0500			20.0	140.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000037
 Roll No. 255125678
 Regn. No. 25-DEO-678

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : YAMINI CHOUDHARY
 Father's Name : YOGESH CHOUDHARY
 Mother's Name : ANURADHA CHOUDHARY
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	48 26	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	57 21	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	53 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	59 28	40AG	100	O	10	04.0	40.0
TOTAL		0398		0500			20.0	180.0
GRAND TOTAL		0398		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000038
 Roll No. 255125679
 Regn. No. 25-DEO-679

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : ALISHA SHARMA
 Father's Name : HANISH SHARMA
 Mother's Name : SUREENA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	38 17	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	37 21	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	40 29	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	33 28	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	36 26	40AG	100	B+	7	04.0	28.0
TOTAL		0305		0500			20.0	144.0
GRAND TOTAL		0305		0500			20.0	144.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

DMC No. 000039
 Roll No. 255125680
 Regn. No. 25-DEO-680

Name : AARTI
 Father's Name : ANIL
 Mother's Name : KAVITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 21	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	33 14	40AG	100	C	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	38 16	40AG	100	B	6	04.0	24.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 12	40AG	100	B	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	45 19	40AG	100	B+	7	04.0	28.0
	TOTAL	0290		0500			20.0	128.0
	GRAND TOTAL	0290		0500			20.0	128.0

RESULT : PASSED AND HAS OBTAINED : SGPA 6.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000040
 Roll No. 255125681
 Regn. No. 25-DEO-681

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : ANIL
 Father's Name : SATYAWAN
 Mother's Name : SHEELA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	44 29	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	33 30	40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	25 29	40AG	100	B	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	36 28	40AG	100	B+	7	04.0	28.0
TOTAL		0332		0500			20.0	148.0
GRAND TOTAL		0332		0500			20.0	148.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000041
 Roll No. 255125682
 Regn. No. 25-DEO-682

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : BHANU
 Father's Name : BIJENDER SINGH
 Mother's Name : SUNITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 18	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	54 19	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 24	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	52 26	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	53 24	40AG	100	A+	9	04.0	36.0
TOTAL		0375		0500			20.0	172.0
GRAND TOTAL		0375		0500			20.0	172.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000042
 Roll No. 255125683
 Regn. No. 25-DEO-683

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : BLESSON SKARIA
 Father's Name : SKARIACHEN M P
 Mother's Name : PHILOMINA SKARIA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	49 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	56 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	60 28	40AG	100	O	10	04.0	40.0
TOTAL		0398		0500			20.0	180.0
GRAND TOTAL		0398		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000043
 Roll No. 255125684
 Regn. No. 25-DEO-684

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : NISHA SAINI
 Father's Name : NIRANJAN SAINI
 Mother's Name : KAMLESH SAINI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 22	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	41 25	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	44 29	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 27	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	45 26	40AG	100	A	8	04.0	32.0
	TOTAL	0356		0500			20.0	160.0
	GRAND TOTAL	0356		0500			20.0	160.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000044
 Roll No. 255125685
 Regn. No. 25-DEO-685

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : RINKU
 Father's Name : RAJ KISHOR
 Mother's Name : GUDDI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	16 28	40AG	100	C	5	04.0	20.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	18 28	40AG	100	C	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	AB 30 F	40AG	100	F	0	04.0	0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	02 29 F	40AG	100	F	0	04.0	0
5	MENL-515 STUDY OF GENRE: FICTION	01 29 F	40AG	100	F	0	04.0	0
	TOTAL	***		0500			20.0	040.0
							20.0	40.0

RESULT : RE - TILL JUN- 2027 IN : MENL-513 MENL-514 MENL-515

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000045
 Roll No. 255125686
 Regn. No. 25-DEO-686

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : KANISHKA TUTEJA
 Father's Name : MOOLCHAND
 Mother's Name : KIRAN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	59 28	40AG	100	O	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	31 24	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	55 28	40AG	100	A+	9	04.0	36.0
TOTAL		0387		0500			20.0	176.0
GRAND TOTAL		0387		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000046
 Roll No. 255125687
 Regn. No. 25-DEO-687

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : HARSHITA
 Father's Name : RAJKUMAR
 Mother's Name : POOJA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 22	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	44 27	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 25	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	41 27	40AG	100	A	8	04.0	32.0
TOTAL		0368		0500			20.0	168.0
GRAND TOTAL		0368		0500			20.0	168.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000047
 Roll No. 255125688
 Regn. No. 25-DEO-688

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : PRIYANKA PAUL
 Father's Name : SOHAN PAUL
 Mother's Name : SANTOSH PAUL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	60 24	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 26	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	59 25	40AG	100	A+	9	04.0	36.0
TOTAL		0399		0500			20.0	180.0
GRAND TOTAL		0399		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000048
 Roll No. 255125689
 Regn. No. 25-DEO-689

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : GAZAL
 Father's Name : JAIBHAGWAN SINGH
 Mother's Name : POONAM
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	58 29	40AG	100	O	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	50 29	40AG	100	A+	9	04.0	36.0
TOTAL		0408		0500			20.0	184.0
GRAND TOTAL		0408		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000049
 Roll No. 255125690
 Regn. No. 25-DEO-690

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : ASHA
 Father's Name : RAJESH SHARMA
 Mother's Name : MAMTA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 27	40AG	100	O	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	57 28	40AG	100	O	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	48 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	54 27	40AG	100	A+	9	04.0	36.0
TOTAL		0406		0500			20.0	188.0
GRAND TOTAL		0406		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000050
 Roll No. 255125691
 Regn. No. 25-DEO-691

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : DEEPTI
 Father's Name : VIJAY
 Mother's Name : NEELAM
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	33 28	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	51 27	40AG	100	A+	9	04.0	36.0
TOTAL		0370		0500			20.0	172.0
GRAND TOTAL		0370		0500			20.0	172.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000051
 Roll No. 255125692
 Regn. No. 25-DEO-692

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : JAGMOHAN SINGH
 Father's Name : GURJANT SINGH
 Mother's Name : AMARJEET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	18 8 F	40AG	100	F	0	04.0	0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	AB AB F	40AG	100	F	0	04.0	0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	AB AB F	40AG	100	F	0	04.0	0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	AB AB F	40AG	100	F	0	04.0	0
5	MENL-515 STUDY OF GENRE: FICTION	AB AB F	40AG	100	F	0	04.0	0
	TOTAL	****		0500			20.0	000.0
							4.0	0.0

RESULT : RE - TILL JUN- 2027 IN : FAIL

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000052
 Roll No. 255125693
 Regn. No. 25-DEO-693

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : HARPREET KAUR
 Father's Name : JASPAL SINGH
 Mother's Name : KANTA KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	49 21	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	38 16	40AG	100	B	6	04.0	24.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	32 14	40AG	100	C	5	04.0	20.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	40 17	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	46 20	40AG	100	A	8	04.0	32.0
TOTAL		0293		0500			20.0	136.0
GRAND TOTAL		0293		0500			20.0	136.0

RESULT : PASSED AND HAS OBTAINED : SGPA 6.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000053
 Roll No. 255125694
 Regn. No. 25-DEO-694

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : PALLAVI SINGH
 Father's Name : SHYAM SUNDAR SINGH
 Mother's Name : LAXMI SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	35 27	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	35 28	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	40 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	41 27	40AG	100	A	8	04.0	32.0
	TOTAL	0341		0500			20.0	156.0
	GRAND TOTAL	0341		0500			20.0	156.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000054
 Roll No. 255125695
 Regn. No. 25-DEO-695

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : VAISHALI WADHWA
 Father's Name : OM PARKASH WADHWA
 Mother's Name : RAJ
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	56 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 21	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 28	40AG	100	A+	9	04.0	36.0
TOTAL		0390		0500			20.0	172.0
GRAND TOTAL		0390		0500			20.0	172.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

DMC No. 000055
 Roll No. 255125696
 Regn. No. 25-DEO-696

Name : POOJA YADAV
 Father's Name : MAINPAL YADAV
 Mother's Name : SUSHMA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51 12	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	38 26	40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	33 24	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	43 27	40AG	100	A	8	04.0	32.0
TOTAL		0329		0500			20.0	152.0
GRAND TOTAL		0329		0500			20.0	152.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000056
 Roll No. 255125697
 Regn. No. 25-DEO-697

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : ABHISHEK GAUTAM
 Father's Name : PARMOD SINGH GAUTAM
 Mother's Name : DARSHANA GAUTAM
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	41 28	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	54 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	50 29	40AG	100	A+	9	04.0	36.0
TOTAL		0388		0500			20.0	176.0
GRAND TOTAL		0388		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

DMC No. 000057
 Roll No. 255125698
 Regn. No. 25-DEO-698

Name : SIMRAN
 Father's Name : BALDEV THAREJA
 Mother's Name : KIRAN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 26	40AG	100	O	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	62 25	40AG	100	O	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53 28	40AG	100	A+	9	04.0	36.0
TOTAL		0403		0500			20.0	184.0
GRAND TOTAL		0403		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000058
 Roll No. 255125699
 Regn. No. 25-DEO-699

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : KAJAL
 Father's Name : YOGENDER SINGH
 Mother's Name : SUNIL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	40 26	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	46 27	40AG	100	A	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	31 27	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	44 28	40AG	100	A	8	04.0	32.0
TOTAL		0345		0500			20.0	160.0
GRAND TOTAL		0345		0500			20.0	160.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000059
 Roll No. 255125700
 Regn. No. 25-DEO-700

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : VINAY KUMAR KAMBOJ
 Father's Name : JAI PARKASH KAMBOJ
 Mother's Name : KAMLESH DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	45 27	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	47 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0380		0500			20.0	176.0
	GRAND TOTAL	0380		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000060
 Roll No. 255125701
 Regn. No. 25-DEO-701

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : MAHALASHMI C
 Father's Name : CHANDRA SEKARA BHARATHI
 Mother's Name : SARASWATHI C
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	51 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	40 29	40AG	100	A	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 29	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	42 29	40AG	100	A	8	04.0	32.0
TOTAL		0369		0500			20.0	168.0
GRAND TOTAL		0369		0500			20.0	168.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000061
 Roll No. 255125702
 Regn. No. 25-DEO-702

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : SAHIL
 Father's Name : RANBIR SINGH
 Mother's Name : SANTOSH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 23	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	54 29	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56 30	40AG	100	O	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 30	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	46 28	40AG	100	A	8	04.0	32.0
TOTAL		0392		0500			20.0	176.0
GRAND TOTAL		0392		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000062
 Roll No. 255125703
 Regn. No. 25-DEO-703

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : POOJA NANDA
 Father's Name : V K NANDA
 Mother's Name : SHANTI NANDA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	56 29	40AG	100	O	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	58 29	40AG	100	O	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	52 28	40AG	100	A+	9	04.0	36.0
TOTAL		0406		0500			20.0	188.0
GRAND TOTAL		0406		0500			20.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000063
 Roll No. 255125704
 Regn. No. 25-DEO-704

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : PAKHI
 Father's Name : PURAN CHAND
 Mother's Name : SANJANA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 28	40AG	100	O	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	62 29	40AG	100	O	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56 30	40AG	100	O	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	52 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	55 29	40AG	100	A+	9	04.0	36.0
TOTAL		0429		0500			20.0	192.0
GRAND TOTAL		0429		0500			20.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000064
 Roll No. 255125705
 Regn. No. 25-DEO-705

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : NOOR MALHOTRA
 Father's Name : RAKESH MALHOTRA
 Mother's Name : URMILA MALHOTRA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	48 21	40AG	100	A	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 27	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	40 26	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	48 27	40AG	100	A+	9	04.0	36.0
TOTAL		0365		0500			20.0	172.0
GRAND TOTAL		0365		0500			20.0	172.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000065
 Roll No. 255125707
 Regn. No. 25-DEO-707

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : GURPRASAD SINGH VIVEK
 Father's Name : BALJIT SINGH
 Mother's Name : RAM PIARY
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 27	40AG	100	O	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	56 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	50 29	40AG	100	A+	9	04.0	36.0
TOTAL		0410		0500			20.0	184.0
GRAND TOTAL		0410		0500			20.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000066
 Roll No. 255125708
 Regn. No. 25-DEO-708

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : TAMANNA
 Father's Name : SUNDER
 Mother's Name : SUNITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	48 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	52 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	41 29	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 26	40AG	100	A+	9	04.0	36.0
TOTAL		0379		0500			20.0	176.0
GRAND TOTAL		0379		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000067
 Roll No. 255125709
 Regn. No. 25-DEO-709

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : AMIT KUMAR
 Father's Name : SURESH SAH
 Mother's Name : SHILA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	54 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	40 29	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53 21	40AG	100	A	8	04.0	32.0
TOTAL		0387		0500			20.0	172.0
GRAND TOTAL		0387		0500			20.0	172.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000068
 Roll No. 255125710
 Regn. No. 25-DEO-710

RESULT-cum-DETAILED MARKS CARD
 MASTER OF ART SEMESTER-01 EXAM : JUN- 2025
 (ENGLISH-CBCS-CDOE)

Name : SARITA PARGAIEN
 Father's Name : GIRISH CHANDRA
 Mother's Name : GEETA PARGAIEN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	55 20	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 28	40AG	100	A+	9	04.0	36.0
TOTAL		0391		0500			20.0	176.0
GRAND TOTAL		0391		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____